


3. TaHreHc pi3HULI 1 CyMH

tg(a+p) = 1522 tg(a - p) = 122

1-tgatgp’ 1+tgatgp

4. Ilpuknagy 3aCTOCYBaHHSL B ——




[ImaH BUBYEHHS TEMU:

1. Kocunyc pi3Hui 1 cymu

cos(a — ) = cosacosf +sinasinf;  cos(a+ ) = cosacosf — sinasinf
2. CuHYC pI3HUIIL 1 CyMH
sin(a + ) = sina cos B + cosa sin f3; sin(a — B) = sina cos f — cosa sin

3. TanreHc pi3HUII 1 CYMH

tga+tgp tga-tgp
t‘g(a t B) - 1—tgatg[?; tg(a B 'B) - 1+tgatgp

4. IIpuKiam 3acTOCYBaHHS







MEPIIOro Ha CUHYC IPYTOTO.




[I;1aH BUBYUECHHS TEMU:
— B o e e — —

1. Kocunyc pi3nuiil 1 cymu

cos(a — ) = cosacosf +sinasinf;  cos(a+ f) = cosacosf — sinasinf
2. CuHyc pI3HHII 1 CyMH
sin(a + f) = sinacosf+cosasinf;  sin(a —f) =sinacosf — cosasinf

3. TanreHc pi3HuIl 1 CyMH

tga+tgp tga-tgp
tg(a+p) = oop tg(a = B) = 1 aias

4. Tpuknany 3aCTOCYBaHHS



















tg45 —-tg30’

3.tg15" =tg(45 —30") =

12—66\/§= 2 —\/§










